PART – B					
		CLUB SERVICE PROJECTS REQUIREMENTS (MANDATORY)			
	B1.01	BUDGET & ACCOUNTS:  Submitting the Administrative and Activities Budget for 2024-2025 in the prescribed format duly approved by the Board of Directors and present in the General Body on or before 15-08-2024. This has to be reported to District Office before 01/09/2024	500 x 1	500	
	B1.02	Sending statement of accounts with assets and liabilities of the club as on 30.06.2023 and submit before 15.08.2024. This has to be reported to District Office before 1 <sup>st</sup> September 2024	500 x 1	500	
B1	B1.03	Sending separately the administrative and activities accounts of the club for the quarter year ending 30th September 2024 duly approved by the Board of Directors and presented in the General Body so as to reach the District office on or before 05.11.2024	500 x 1	500	
	B1.04	Sending separately the administrative and activities accounts of the club for the quarter year ending 31st December 2024 duly approved by the Board of Directors and presented in the General Body so as to reach the District office on or before 05.02.2025.	500 x 1	500	
	B1.05	Sending separately the administrative and activities accounts of the club for the quarter year ending 31 <sup>st</sup> March 2025 duly approved by the Board of Directors and presented in the General Body so as to reach the District office on or before 05.05.2025	500 x 1	500	
	B1.06	Sending Separately the administrative and activities provisional account of the club for the year ending 25/06/2025	500 x 1	500	
		ANNUAL, DISTRICT, MULTIPLE DUES  Annual District Dues Rs. 531/- (Based on membership as on 01st July 2024). This is inclusive of GST 18%. (Inclusive of contributions to, Sports for Differently Abled, Youth Programme, Lions District 318 D Trust, Lions Quest, District Governor's Reserve Fund,LCIF Promotions, District Promoted Activities and other services of the District.) - (Rs.450/- + 18% GST. For Family members Rs.266/-(Rs.225/- + 18%GST) (To be paid before 15-09-2024)			
		Annual Multiple District Dues per Regular member Rs.102/- (excluding GST) and for family member Rs.82/-(excluding GST)(based on membership as on 01st July 2024) to be paid before 15-09-2024.			
		Remittance should be by NEFT/RTGS in favour of Lions Clubs International, District 318D, payable at Thrissur or account transfer to the above account			
	B2.01	Remitting the District and Mulitiple District dues in a Single payment before 15 <sup>th</sup> September 2024	5000 x 1	5000	
	B2.02	Remitting First Semi Annual District & Multiple dues for the period of July 2024 to December 2024 before 20-10-2024	1000 x 1	1000	
	B2.03	Remitting Second Semi Annual District & Multiple dues for the period of January 2025 to June 2025 before 20/02/2025	1000 x 1	1000	

		INTERNATIONAL DUES (US\$ 48/- per member + 18%GST )		
		Remit International dues by NEFT/RTGS as detailed below in favor of "THE INTERNATIONAL ASSOCIATION OF LIONS CLUBS" Payable at Mumbai, and to be forwarded to: SOUTH ASIAN SECRETARIAT, 19, Nirlon House, 4th Floor, 254 - B, Dr. Annie Besant Road, Worli, Mumbai - 400 030, Maharashtra. Phone. 022 - 61217900 FAX: 022 - 24916457, E-mail: lions.india@lionsintl.org		
	B3.01	First Semi Annual International Dues for the period of July 2024 to December 2025 Before20-10-2024 (based on membership as on 01st July 2024)	1000 x 1	1000
	B3.02	Furnish the details of the remittance of first half international dues to the District Office before 20-10-2024 with copies of payment details	100 x 1	100
В3	B3.03	Remit second semi annual International dues for the period January 2025 to June 2025 before 29/02/2025	1000 x 1	1000
	B3.04	Furnish the details of remittance of Second Half International Dues to the District Office before 15-2- 2025 with copies of payment details	100 x 1	100
		(International charges if any applicable as per requirement)  Entrance fee for Charter Member - US\$35.00  Entrance fee for New member - US\$35.00  Transfer fee for member - US\$20  Reinstating fee for member - US\$16.60  LCIF enrolling 5% members each - US\$20.00  LCIF enrolling 2 Honour Roll members (gold) each - US\$100  LCIF enrolling 4 Honour Roll members (silver) each - US\$50  LCIF Melvin Jones Fellow - US\$1000  Leo fees Club Formation fee (for 20 members) - US\$100.00  For each additional Leo - US\$05.00  All payments, except to LCIF, are subject to an additional amount of 18% GST  Remittance of District/Multiple/International dues in a single		
B4	B4.01	If a club remit the complete District/Multiple District dues and the entire International dues for the year 2024-2025 (based on the membership as on 01/07/2024) before 31/12/2024, the clubs are eligible for contest rule points mentioned here	10000 X 1	10000

		DISTRICT DIRECTORY		
		Supporting the publication of the District Directory 2024-2025 by		
		sending Advertisement matters on or before 31-07-2024 and		
		contributions as follows:		
	A	Membership above 100 : Rs.15000.00		
	В	Membership 61 – 100 : Rs 12000.00		
	С	Membership 41 – 60 : Rs 8000.00		
	D	Membership 26 – 40 : Rs. 6000.00		
	E	Membership 25 and below : Rs. 4000.00		
		Making payment for Directory Advertisement by Account		
		Transfer/RTGS/NEFT in favour of Lions Clubs International District		
		318D payable at Thrissur before 31-07-2024 to the District Thrissur		
B5	B5.01	Clubs are eligible for contest rule points for providing advertisement in District Directory. For each full page advertisement given/collected by the clubs, they are eligible for 3000 points. Two half page will be treated as a full page advertisement. Maximum points eligible is 3000 x 10	3000 x 10	30000
	B5.02	Clubs are eligible for contest rule points for giving advertisement by the clubs in the Mini Directory or Main Directory. The advertisement must be of a Strip like "compliments from the club" for an amount prescribed by the District. Maximum points eligible is 1000 x 10	1000 x 10	10000
_		Part B Sub Total		62200

		PART - C		
	I	SECTION 1 CLUB FUNCTIONAL SERVICE PROJECTS		
C1		Environment : "Our Environment is more than a background, it's our home"		
	C1.01	Clean up a community space / roadside area / any Public Area of Importance and/or any project that is intended for Environment protection shall be eligible for contest rule points	300 x 12	3600
	*****	Any number of projects done over and above the number specififed under rule C1.01 are eligible for 100 points.	100 x 5	500
C2		Hunger: "Providing Food, Clothes/ Utilities to the needy – Other than MANNA Projects"		
	C2.01	<b>Hunge</b> r: Contributing financial assistance to Orphanages / old age homes and/or any project undertaken by District and/or any projects done by the clubs in connection with HUNGER PROJECTS	300 x 12	3600
	C2.02	Manna – Hunger Project: Clubs are eligible for 300 points for contributing the Manna Hunger project of the District.(Every club will be be given 100 points for every project over and above the specified 10 projects. Kindly note that Mann projects are be reported under this Rule only and in no case it shall be posted under C-2.01)	2000 X 12	24000
	C02.03	<b>MEALS ON WHEELS Hunger Project:</b> Clubs contributing an amount of Rs.3000/- *minimum) to the District Sponsored program meals on wheels is eligible for contest rule points		3000
	*****	Any number of projects done over and above the number specififed under rule C2.01 are eligible for 100 points.	100 x 5	500
C3		Childhood Cancer: "to strengthen medical and social services to help children fighting cancer and enhance quality of life for them and their families. 57% of childhood cancer cases go undiagnosed in parts of the world.		
	C3.01	Childhood Cancer detection camp / Childhood Cancer awarness Programs / Supply of miumum of 5 number of nutreious kits and or any other program connected with CHILDHOOD CANCER	300 x 12	3600
	*****	Any number of projects done over and above the number specififed under rule C2.01 are eligible for 100 points.	100 x 5	500
C4		Diabetes: "to reduce the prevalence of diabetes and improve the lives of those living with diabetes"		
	C4.01	Diabetes Screening Camp / Diabetic awareness Programs / Financial support of not less than Rs.2500/- / supply of Diabetic testing kits and/or any program connected with DIABETES	300 X 12	3600
	*****	Any number of projects done over and above the number specififed under rule C4.01 are eligible for 100 points.	100 x 5	500

C5		Vision: "Improve the lives of the visually impaired and prevent avoidable blindness"		
	C5.01	Conducting a sight first camp / Mobile Screening van as a part of Vision Project and/or any other Vision Projects that is conneted or associated with our Global Cause VISION	300 X 12	3600
	*****	Any number of projects done over and above the number specififed under rule C5.01 are eligible for 100 points.	100 x 5	500
		YOUTH EMPOWERMENT PROGRAMS		
C6	C6.01	Oranising any projects/programs for the uplift and betterment of the Youth of our community and/or Sending or sponsoring at least one participant to the Youth Camp organised by the District Chairperson at District Level and /or at Region Level	300 X 12	3600
	*****	Any number of projects done over and above the number specififed under rule C6.01 are eligible for 100 points.	100 x 5	500
		Humanitarian Efforts		
C7	C7.01	Contributing aid in cash or in-kind to any humanitarian efforts that LIONS can contribute to the local people of an amount not less than Rs.5000/ (This shall not be claimed under any of the Projects covered under District Contest Rule. ).	300 X 12	3600
	*****	Any number of projects done over and above the number specififed under rule C7.01 are eligible for 100 points.	100 x 5	500
		Disaster Relief		
C8	C8.01	Contributing financial aid in-cash or in-kind to help victims affected by any disaster that have occured in the locality (by an incident happened by the act of GOD/nature in the locality) by an amount not less than Rs.5000/-(This project points shall not be claimed under any project mentioned in District Contest Rule)	300 X 12	3600
	*****	Any number of projects done over and above the number specififed under rule C8.01 are eligible for 100 points.	100 x 5	500
		Sight for Kids:		
C9	C9.01	Eye screening and/or distribution of spectacles for children as a part of Vision ProjectS	1000 X 1	1000
	C9.02	Giving training to teachers to take part in our SFK Project (Points will be allowed by the District only if photos of the training program to teachers are attached to the Project)	1000 X 1	1000
C10		HEALTH CARE & DETECTION CAMPS		
	C10.01	All kinds of Medical Camps (other than Dialysis/Kidney Care)	500 x 12	6000
	C10.02	Dialysis Service Camps and/or any program associated with Dialysis and/or Kidney Care	500 x 12	6000
I				

		Sports		
014	C11.01	DISTRICT SPORTS and GAMES FOR LIONS AND FAMILIES	1000 x 1	1000
		Participate at least for three events per club in the Lions District Sports		
		/ games arranged at District Level by the concerned District Chairperson		
C11				
	C11.02	SPORTS FOR DIFFERENTLY ABLED : Participation of at least 3 club	1000 x 1	1000
		members at the sports venue		
	C11.03	Chess Tournament: Clubs are eligible for contest rule points for	500 x 1	500
	011.00	participating in Chess Tournament conducted at Lions District 318-D	000 X 1	
		Lions Quest :		
	040.04	Support and Sponsoring atleast one teacher with a registration fee of	4000 4	4000
C12	C12.01	Rs.1000/- in the Teachers Training workshop conducting in the Region level	1000 x 1	1000
	C12.02	Implementation and/or Reimplimentation (follow up in school where Lions Quest was conducted in the previous year) of Lions Quest in	2000 x 1	2000
	012.02	Schools	2000 X 1	2000
		A day at orphanages / Pain and Palliative Care Support		
		Spending a minimum of Rs.5000/- for conducting any service project in		
	C13.01	support of Pain & Palieative Care. This shall not be claimed under any	500 x 12	6000
C13		of the Global Causes		
		Spending a day with an Orphanage/Old Age Home with family in each		
	C13.02	month by sponsoring food for that day and also conducting cultural	1000 x 5	5000
		programs with them (Minimum of Rs.5000/-). This shall not be claimed under any of the Global Causes		
		Career building for women		
	C14.01	Support and Sponsoring atleast one Student with registration and	2000 x 1	2000
C14	C14.01	participation in the Career Orientation Program	2000 X 1	2000
		Clubs are eligible for contest rule points for taking part in the WOMEN		
	C14.02	ENTREPRENEURSHIP programs conducted at District level by the	1000 x 5	5000
		concerned District Chairpersons		
C15		Discovering the esteemed personalities :		
013	C15.01	Recognize the personalities in the locality for their exemplary service to	500 x 3	1500
		the society and honouring them		
		Legacy Projects / Permanent Projects		
C16	C16.01	Long standing and permanent project bearing the logo and name of our Organisation which are signature projects of the Club and not included	5000 x 2	10000
	C 10.01	in any of the Projects included in Contest Rule	3000 X Z	10000
C17				
		CELEBRATIONS: - ONAM / IFTAR MEET / CHRISTMAS - NEW   YEAR		
	C17.01	Participation of minimum 3 members of the club in the District Level Onam celebration	1000 X 1	1000
	C17.02	Participation of the Clubs in the Regional Level Pookalam	1000 X 1	1000
		Competitions in connection with ONAM Celebrations		
	C17.03	Participation of minimum 3 members of the club in the District Level	1000 X 1	1000
		Iftar Meet	.550 // 1	. 555